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Fresdom of choice and enterprise is a
characteristic of:

A. Traditional economy

B. Mixed economy

C. command economy

D. market economy

C. public enterprise
D. partnership business

. To make a choice we need;
A. Unlimited wants

B. Limited wants

C. scale of preference

D. an opportunity cost

10.

Which of the following shareholders receive
rewards afier ail others have been paid?

A. ordinary shareholders

B. debenture holders

C. participating preference sharcholders

D. cumulative preference shareholders

The marks scored by a student in a test are as
follows; 50, 75, 45, 30, 50, 6G, 40. The mark
range will be;

A.10 B.45 C.30 D.50

11.

When Dangote cement factory merges with
Brasseries du Cameroun, it is an example of;
A. horizontal integration

B. conglomerate integration

C. vertical integration

D. lateral integration

. A country with a population of 4000000 people
- registers 180000 births and 100000 deaths in a
year. Calculate the natural growth rate of the

country.

12.

One reason for the continuous existence of
small firms is;

A to reduce cost
C. to spread risk

B. to avoid risk
D. to raise revenue

A; 20% B,20% C,2%¢ D,2%
. Which of the following is a preventive check
proposed by Malthus?
A. Abstinence B. Famine
C. War D. Misery

. The age distribution of 2 population will help us
&ctermine;

A. the sex ratio

B. the dependency ratio

C. the optimum population

D. the population structure

13.

The optimum ocutput of a firm is attained when;
A, average cost is lowest

B. average cost is highest

C. average cost is constant

~D. average cost is falling

14.

The most important function of the retailer to
the consumer is;

A. exposing a varicty of goods

B. warehousing of goods
C. bulk breaking
D. provision of credit facilities

. Given that xyz PLC issued 50 preference shares
at 40000FCFA and 150 ordinary shares at
10000FCFA per share; what is the total
ordinary share capital?

A. 1500000FCFA  B.2000000FCFA

C. 400000FCFA D. 3500060FCFA

15.

Which if the following is a reason for direct
dealing?
A. few retailers

‘B. retailers buy in bulk

C. the desire to brezk even
D. goods are perishable

. Which of the following documents legally
permits a public limited company to start
business? '

A. prospectus

B. certificate of trading

C. article of association

D. certificate of incorporation

16.

The path through which commodities from the
producer reach the final consumers is referred
to as;

A. production channel

B. retail channel

C. consumption channel

D. distribution channel

A business unit v»hxch is characlcnch by

democratic principle is called; i

17.

As the price of a commodity rises by 25%, the
quantity supplied increases by 10%. What is th
elasticity of supply for this commodity?

A. public corporation A 25 B.04

B. cooperative society f} C.1.5 D. 3.5 :
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18. “Other things be ge
a consumer falls the quantlty demanded of an
inferior good will;

A. rise and fall B. remain constant
C. increase D. fall

19. As the price of good A increases the quantity
demanded of good B increases. The two goods
are;

A. complementary in demand
B. competitive in demand

C. composite in demand

D. derived in demand

Chﬁ d)u Kam‘eha&'&e‘r\!‘»&e characterized by many

buyers and sellers who deal in differentiated
products is called;

A. perfect competition

B. an oligopoly

C. monopolistic competition

D. monopoly

20. A common characteristic of a perfect market is;
A. freedom of entry;
B. heterogeneous goods
C. branding
D. advertisement

25:

The cost structure of a firm is as follows;
Output | 0 1 2 3 4
Total | 1000 | 3000 | 5000 | 8000 | 1300
cost

The average total cost of the 2™ unit of output

is;

21. The movement of the entire demand curve to
the left can be due to;
A. fall in price
B. a rise in price
C. an increase in income
D. a decrease in income

A. 1500 B. 500
C. 2000 D. 2500
26. The oldest function of commercial banks is;

A. accepting deposits

B. granting loans

C. printing money

D. controlling the supply of money

Consider figure 1 below for question 22:

Price

150 L e e R
100 S —— \..‘“-.-.;:.,_--__‘

b L - N - '.

Quantity

Figure 1

22.What is the maximum price for this

commodity?
A.25FRS B. 25 FRS and 150FR

C. 150 FRS D. 150 FR and 25 FRS

27

Which characteristic of money requires that
money should easily be moved from one place
to another?

A. Divisibility B. Scarcity

C. Portability D. Acceptability

28.

“cash” as used in economics refers to;
A. coins only

B. bank notes and coins

C. bank notes only

D. cheques and coins

29,

Which of the following instruments will help to
reduce the rate of inflation in an economy?

A. increase in wages

B. reduced bank rates

C. open market operations

D. increase in bank rates

23. One consequence of maximum price control is;
A. excess supply
B. decrease in government expenditure
C. fall in price
D. shortage in demand
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30.

A tax imposed on the value of a good is known
as;

A. specific tax

B. value added tax

C. ad valorem tax

D. indirect tax

31.

A good example of a direct tax is;
A. custom duty
B. value added tax

C. corporate tax
D. sales tax
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32.A debt owed by the government to her citizens
is known as;

A. external debt B. internal debt
C. national debt D. public debt

33. What is added to GDP to obtain GNP?
A. NPIA B. depreciation
C. net investment D. NNP

34. One problem of using national income statistics
to compare standard of living among countries
ig; -
A. double counting

B. changes in the value of money
C. differences in currency

D. changes in price

35. Income not spent on current consumption of
goods and services is known as;
A. dividends B. reserves
C. savings D. interest

36. One way of eliminating double counting is by;
A. taking the value of the final product
B. taking intermediate expenditure
C. taking transfer payment
D. taking the value of second hand goods
37. The cultivation of crops for home consumption
is known as;
A. plantation agriculture
B. cash crop farming
C. peasant agriculture
D. small holder scheme

38. Industries which do not have any locational
advantages to any site are known as;
A. weight gain industries
B. weight loss industries
C. foot loose industries
D. industrial inertia
39. Bilateral trade is the exchange of commodities
between,
A. Two countries only
B. two or more countries
C. less than two countries
D. more than two countries
40. One policy that can be adopted by the
government to encourage agriculture in

Cameroon is;
A. increasing the prices of farm inputs
B. increase interest rate on loans to farm?jrs

“~Ru/RPIjs
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C. discourage the formation of farmers’

cooperatives
D. construction of farm to market roads
41. Which of the following institutions gives short
term loans to its members?
A. BEAC B. IMF
C. world bank D. IBRD

42, When the index of import prices is greater than the
index of export prices, terms of trade is said to be;

A. favourable B. balanced
C. unfavourable D. equal
43. A trade restriction that limits the amount of currency
to be converted into foreign currency is;
A. quotas B. exchange control
C.embargo D. exchange rate
44. Which of the following measures will the
government use to reduce unemployment?
A. increase taxes
B. increase bank rates
C. buy securities in the open market
D. increase the prices of goods and services

45. An increase in a country’s productive capacity
is termed;
A. economic growth
B. economic development
C. economic policy
D. gross investment

46. One characteristic of developing countries is;
A. high per capita income
B. high dependency ratio
C. high living standards
D. high life expectancy

47. Which of the following policies ca be adopted
to speed up the rate of economic growth?
A. increase investment
B. increase borrowing for consumption
C. increase consumption of consumer goods
D. reduction in the number of working hours

48. One reason for government intervention in the
location of industries is to;
A. reduce producers cost
B. avoid wastage of resources
C. diversify production
D. achieve balanced development

49, Which of the following is an indicator of
economic growth? :
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A. Decrease in per capita income 50. Fluctuations in the level of economic activitius
B. Fall in consumers purchasing power in the economy is iilustrated by;

C. Increased per capita income A. the income cycle

D. Increase in prices of goods and services B. the trade cycle

C. the demand curve
D. the supply curve
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